			BIDDER NO. 1		BIDDER NO. 2		BIDDER NO. 3		BIDDER NO. 4	
			KRUCZEK CONSTRUCTION, INC.		DORNER INC.		JOSSART BROTHERS, INC.		FEAKER & SONS CO. INC.	
ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
SANITARY SEWER										
SS-01 Provide 8" PVC Sanitary Sewer (Granular Backfill)	LF	2,900	\$52.00	\$150,800.00	\$65.00	\$188,500.00	\$61.00	\$176,900.00	\$60.00	\$174,000.00
SS-02 Provide 8" PVC Sanitary Sewer (Natural Backfill)	LF	1,200	\$29.00	\$34,800.00	\$35.00	\$42,000.00	\$25.00	\$30,000.00	\$33.00	\$39,600.00
SS-03 Provide 8" PVC Sanitary Sewer Lateral (Ryan Road)	LF	15	\$61.00	\$915.00	\$44.00	\$660.00	\$70.00	\$1,050.00	\$59.00	\$885.00
SS-04 Provide 4" PVC Sanitary Sewer Force Main (Granular Backfill)	LF	50	\$75.00	\$3,750.00	\$75.00	\$3,750.00	\$39.00	\$1,950.00	\$52.00	\$2,600.00
SS-05 Provide 4" PVC Sanitary Force Main (Natural Backfill)	LF	900	\$19.00	\$17,100.00	\$20.00	\$18,000.00	\$22.00	\$19,800.00	\$29.00	\$26,100.00
SS-06 Provide 4" PVC Sanitary Sewer Lateral	LF	1,800	\$32.00	\$57,600.00	\$35.00	\$63,000.00	\$38.00	\$68,400.00	\$41.00	\$73,800.00
SS-07 Provide 8"x4" Sanitary Wye	EA	61	\$45.00	\$2,745.00	\$65.00	\$3,965.00	\$50.00	\$3,050.00	\$50.00	\$3,050.00
SS-08 Provide Sanitary Riser	VF	5	\$200.00	\$1,000.00	\$50.00	\$250.00	\$75.00	\$375.00	\$50.00	\$250.00
SS-09 Provide 4' Diameter Sanitary Sewer Manhole	VF	170	\$200.00	\$34,000.00	\$260.00	\$44,200.00	\$295.00	\$50,150.00	\$265.00	\$45,050.00
SS-10 Provide Lift Station	LS	1	\$185,000.00	\$185,000.00	\$265,000.00	\$265,000.00	\$194,000.00	\$194,000.00	\$248,600.00	\$248,600.00
SS-11 Core Drill Into Existing Sanitary Manhole	EA	1	\$300.00	\$300.00	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00
STORM SEWER										
ST-01 Provide 34"X53" RCP Class III Storm Sewer	LF	80	\$150.00	\$12,000.00	\$141.00	\$11,280.00	\$137.00	\$10,960.00	\$100.00	\$8,000.00
ST-02 Provide 30" RCP Class III, PVC or PP Storm Sewer	LF	1,650	\$76.00	\$125,400.00	\$57.00	\$94,050.00	\$61.00		\$56.00	\$92,400.00
ST-03 Provide 24" RCP Class III, PVC or PP Storm Sewer	LF	170	\$60.00	\$10,200.00	\$46.00	\$7,820.00	\$61.00	\$10,370.00	\$55.00	\$9,350.00
ST-04 Provide 21" RCP Class III, PVC or PP Storm Sewer	LF	240	\$56.00	\$13,440.00	\$48.00	\$11,520.00	\$61.00	\$14,640.00	\$54.00	\$12,960.00
ST-05 Provide 18" RCP Class III, PVC or PP Storm Sewer	LF	420	\$57.00	\$23,940.00	\$51.00	\$21,420.00	\$57.00	\$23,940.00	\$51.00	\$21,420.00
ST-06 Provide 15" RCP Class III or PVC Storm Sewer	LF	160	\$47.00	\$7,520.00	\$39.00	\$6,240.00	\$57.00	\$9,120.00	\$46.00	\$7,360.00
ST-07 Provide 12" RCP Class III or PVC Storm Sewer (Granular Backfill)	LF	2,300	\$38.00	\$87,400.00	\$31.00	\$71,300.00	\$42.00		\$39.00	\$89,700.00
ST-08 Provide 12" RCP Class III or PVC Storm Sewer (Natural Backfill)	LF	425	\$24.00	\$10,200.00	\$25.00	\$10,625.00	\$26.00	\$11,050.00	\$29.00	\$12,325.00
ST-09 Provide 8" PVC Storm Sewer	LF	1,200	\$28.00	\$33,600.00	\$24.00	\$28,800.00	\$36.00	\$43,200.00	\$30.00	\$36,000.00
ST-10 Provide 6" PVC Storm Sewer Lateral	LF	1,450	\$30.00	\$43,500.00	\$21.00	\$30,450.00	\$26.00	\$37,700.00	\$26.00	\$37,700.00
ST-11 Provide 24"x6" Storm Branch or Inserta Tee	EA	2	\$265.00	\$530.00	\$150.00	\$300.00	\$150.00	\$300.00	\$200.00	\$400.00
ST-12 Provide 18"x6" Storm Branch or Inserta Tee	EA	1	\$265.00	\$265.00	\$140.00	\$140.00	\$140.00	\$140.00	\$185.00	\$185.00
ST-13 Provide 12"x6" Storm Branch or Inserta Tee	EA	25	\$165.00	\$4,125.00	\$140.00	\$3,500.00	\$140.00	\$3,500.00	\$125.00	\$3,125.00
ST-14 Provide 8"x6" Storm Branch or Inserta Tee	EA	10	\$165.00	\$1,650.00	\$65.00	\$650.00	\$75.00	\$750.00	\$90.00	\$900.00
ST-15 Provide 5' Diameter Storm Manhole	VF	60	\$385.00	\$23,100.00	\$385.00	\$23,100.00	\$515.00	\$30,900.00	\$450.00	\$27,000.00
ST-16 Provide 4' Diameter Storm Manhole	VF	125	\$300.00	\$37,500.00	\$290.00	\$36,250.00	\$415.00	\$51,875.00	\$385.00	\$48,125.00
ST-17 Provide Type A Inlet	EA	7	\$1,700.00	\$11,900.00	\$1,650.00	\$11,550.00	\$1,650.00	\$11,550.00	\$1,465.00	\$10,255.00
ST-18 Provide Type B Inlet	EA	28	\$1,500.00	\$42,000.00	\$1,600.00	\$44,800.00	\$1,800.00	\$50,400.00	\$1,810.00	\$50,680.00
ST-19 Provide 34"x53" RCP Endwall	EA	2	\$2,000.00	\$4,000.00	\$1,500.00	\$3,000.00	\$2,000.00	\$4,000.00	\$2,470.00	\$4,940.00
ST-20 Provide 30" RCP Endwall	EA	1	\$1,000.00	\$1,000.00	\$700.00	\$700.00	\$900.00	\$900.00	\$1,510.00	\$1,510.00
ST-21 Provide 12" RCP Endwall	EA	4	\$700.00	\$2,800.00	\$350.00	\$1,400.00	\$250.00	\$1,000.00	\$780.00	\$3,120.00
WATERMAIN										
W-01 Provide 16" PVC Water Main (Granular Backfill)	LF	5	\$300.00	\$1,500.00	\$371.00	\$1,855.00	\$150.00	\$750.00	\$90.00	\$450.00
W-02 Provide 12" PVC Water Main (Natural Backfill)	LF	430	\$37.00	\$15,910.00	\$40.00	\$17,200.00	\$38.00	\$16,340.00	\$43.00	\$18,490.00
W-03 Provide 8" PVC Water Main (Granular Backfill)	LF	190	\$36.50	\$6,935.00	\$41.00	\$7,790.00	\$50.00	\$9,500.00	\$41.00	\$7,790.00
W-04 Provide 8" PVC Water Main (Natural Backfill)	LF	2,900	\$25.50	\$73,950.00	\$25.00	\$72,500.00	\$29.00	\$84,100.00	\$28.00	\$81,200.00
W-05 Provide 8" PVC Water Service (Ryan Road)	LF	80	\$65.00	. ,	\$47.00	\$3,760.00	\$45.00	\$3,600.00	\$41.00	\$3,280.00
W-06 Provide 1" HDPE Water Service	LF	1,600	\$42.00	\$67,200.00	\$17.00	\$27,200.00	\$24.00	\$38,400.00	\$28.00	\$44,800.00
W-07 Directional Drill 1" HDPE Water Service (Ryan Road)	LF	530	\$42.00	\$22,260.00	\$21.00	\$11,130.00	\$33.00	\$17,490.00	\$31.00	\$16,430.00
W-08 Provide 1" Corporation and Curb Stop	EA	61	\$315.00	\$19,215.00	\$350.00	\$21,350.00	\$335.00	\$20,435.00	\$325.00	\$19,825.00
W-09 Provide 8" Gate Valve	EA	9	\$1,585.00	\$14,265.00	\$1,580.00	\$14,220.00	\$1,700.00	\$15,300.00	\$1,570.00	\$14,130.00
W-10 Provide 6" Gate Valve	EA	1	\$1,150.00	\$1,150.00	\$1,150.00	\$1,150.00	\$1,250.00	\$1,250.00	\$1,170.00	\$1,170.00
W-11 Provide Connection to Existing Water Main	EA	2	\$1,250.00	\$2,500.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,285.00	\$4,570.00
W-12 Provide Hydrant (6.5' Bury)	EA	6	\$3,850.00	\$23,100.00	\$3,630.00	\$21,780.00	\$3,800.00	\$22,800.00	\$3,600.00	\$21,600.00
W-13 Provide 6" PVC Hydrant Lead	LF	30	\$60.00	\$1,800.00	\$30.00	\$900.00	\$30.00	\$900.00	\$36.00	\$1,080.00
W-14 Provide Water Service Offset (Ryan Road)	EA	1	\$2,284.00	\$2,284.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00

			BIDDER NO. 1		BIDDER NO. 2		BIDDER NO. 3		BIDDER NO. 4	
			KRUCZEK CO	INSTRUCTION,	DORNER INC.		JOSSART		FEAKER & SONS CO. INC.	
			INC.				BROTHERS, INC.			
ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
STREET DRAINAGE										
SD-01 Provide Clearing and Grubbing	LS	1	\$35,000.00	\$35,000.00	\$19,000.00	\$19,000.00	\$20,000.00	\$20,000.00	\$42,550.00	\$42,550.00
SD-02 Unclassified Excavation	CY	5,040	\$11.40	\$57,456.00	\$11.60	\$58,464.00	\$12.00	\$60,480.00	\$11.63	\$58,615.20
SD-03 Unclassified Excavation (Pond)	CY	12,810	\$7.25	\$92,872.50	\$7.25	\$92,872.50	\$7.50	\$96,075.00	\$7.24	\$92,744.40
SD-04 Backyard Swale Ditching	SY	350	\$7.25	\$2,537.50	\$7.25	\$2,537.50	\$7.40	\$2,590.00	\$7.80	\$2,730.00
SD-05 Provide 1 1/4" Crushed Aggregate Base Course	TON	8,200	\$11.00	\$90,200.00	\$11.15	\$91,430.00	\$11.50	\$94,300.00	\$11.17	\$91,594.00
SD-06 Provide Asphaltic Concrete Pavement Type 4 LT 58-28 (Upper Layer) (Lot 8 & Outlot 1)	TON	70	\$110.00	\$7,700.00	\$112.00	\$7,840.00	\$115.30	\$8,071.00	\$112.00	\$7,840.00
SD-07 Provide Asphaltic Concrete Pavement Type 3 LT 58-28 (Lower Layer)	TON	1,150	\$69.00	\$79,350.00	\$69.75	\$80,212.50	\$74.00	\$85,100.00	\$69.92	\$80,408.00
SD-08 Provide 24" Concrete Curb and Gutter (Slip Form)	LF	5,500	\$10.25	\$56,375.00	\$10.30	\$56,650.00	\$10.65	\$58,575.00	\$10.34	\$56,870.00
SD-09 Remove and Replace 9-Inch Concrete Pavement with Integral Curb	SY	85	\$78.00	\$6,630.00	\$86.80	\$7,378.00	\$95.00	\$8,075.00	\$83.00	\$7,055.00
SD-10 Provide 6" Concrete Sidewalk and Driveway	SY	20	\$56.00	\$1,120.00	\$55.00	\$1,100.00	\$57.00	\$1,140.00	\$56.00	\$1,120.00
SD-11 Provide 4" Concrete Sidewalk	SY	60	\$50.00	\$3,000.00	\$45.80	\$2,748.00	\$47.00	\$2,820.00	\$46.00	\$2,760.00
SD-12 Provide #4 Reinforcement Bars	LF	3,600	\$1.00	\$3,600.00	\$0.75	\$2,700.00	\$0.80	\$2,880.00	\$0.80	\$2,880.00
SD-13 Drilled Tie Bars	EA	60	\$8.50	\$510.00	\$8.15	\$489.00	\$8.40	\$504.00	\$8.20	\$492.00
SD-14 Landscaping – Topsoil, Seed, Fertilizer and Mulch	SY	33,500	\$2.00	\$67,000.00	\$3.50	\$117,250.00	\$2.30	\$77,050.00	\$1.40	\$46,900.00
SPECIAL CONSTRUCTION										
SC-01 Pipe Foundation Stabilization	CY	100	16	\$1,600.00	22	\$2,200.00	\$15.00	\$1,500.00	\$22.00	\$2,200.00
SC-02 Provide Silt Fence	LF	650	2	\$1,300.00	2.25	\$1,462.50		\$1,300.00	\$2.00	\$1,300.00
SC-03 Inlet Protection Type B	EA	35	40	\$1,400.00	60	\$2,100.00	\$75.00	\$2,625.00	\$50.00	\$1,750.00
SC-04 Provide Heavy Rip Rap w/ Geotextile Fabric (Type HR) (Pond)	SY	20	50	\$1,000.00	51	\$1,020.00	\$53.00	\$1,060.00	\$51.00	\$1,020.00
SC-05 Provide Heavy Rip Rap w/ Geotextile Fabric (Type HR)	SY	20	50	\$1,000.00	51	\$1,020.00	\$53.00	\$1,060.00	\$51.00	\$1,020.00
SC-06 Tracking Pad	EA	3	1000	\$3,000.00	1250	\$3,750.00	\$1,000.00	\$3,000.00	\$1,000.00	\$3,000.00
SC-07 Install, Maintain, & Remove Rock Filled Erosion Control Bags	EA	100	10	\$1,000.00	10	\$1,000.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00
		TOTAL		\$1,755,000,00		\$1,810,529,00		\$1,827,290,00		\$1.835.653.60

BID TAB										
				ER NO. 5		ER NO. 6	BIDDER NO. 7		BIDDER NO. 8	
			PETERS CONCRETE		ADVANCE CONSTRUCTION,		PTS CONTRACTORS, INC.		DAVID TENOR	
TOTAL DESCRIPTION		OTEX		IPANY		NC.	LINUTE DELCE	AMOUNTEDID		DRATION AMOUNT BID
ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
SANITARY SEWER	TE	2.000	ф с о. оо	#174 000 00	#04.00	#2.12.coo.oo	ф Т 4 00	#214 coo oo	Φ 7 5.00	#21 7 500 00
SS-01 Provide 8" PVC Sanitary Sewer (Granular Backfill)	LF	2,900	\$60.00	\$174,000.00		\$243,600.00	\$74.00	, , ,	\$75.00	\$217,500.00
SS-02 Provide 8" PVC Sanitary Sewer (Natural Backfill)	LF	1,200	\$37.90		\$41.00	\$49,200.00	\$40.00		\$51.00	\$61,200.00
SS-03 Provide 8" PVC Sanitary Sewer Lateral (Ryan Road)	LF	15	\$75.00	\$1,125.00	\$44.00	\$660.00	\$77.00	, ,	\$65.00	\$975.00
SS-04 Provide 4" PVC Sanitary Sewer Force Main (Granular Backfill)	LF	50	\$50.00	\$2,500.00	\$50.00	\$2,500.00	\$69.00	\$3,450.00	\$63.00	\$3,150.00
SS-05 Provide 4" PVC Sanitary Force Main (Natural Backfill)	LF	900	\$26.50	\$23,850.00	\$26.00	\$23,400.00	\$29.00	1 -,	\$54.00	\$48,600.00
SS-06 Provide 4" PVC Sanitary Sewer Lateral	LF	1,800	\$42.50	1	\$55.50	\$99,900.00	\$54.00	, , , , , , , , , , , , , , , , , , , ,	\$58.00	\$104,400.00
SS-07 Provide 8"x4" Sanitary Wye	EA	61	\$80.00	\$4,880.00	\$44.00	\$2,684.00	\$102.00	1 - 7	\$70.00	\$4,270.00
SS-08 Provide Sanitary Riser	VF	5	\$100.00	\$500.00	\$49.00	\$245.00	\$290.00	\$1,450.00	\$65.00	\$325.00
SS-09 Provide 4' Diameter Sanitary Sewer Manhole	VF	170	\$255.00	\$43,350.00	\$270.00	\$45,900.00	\$350.00	1,	\$310.00	\$52,700.00
SS-10 Provide Lift Station	LS	1	\$249,000.00	\$249,000.00	\$326,000.00	\$326,000.00	\$333,600.00	, ,	\$260,000.00	\$260,000.00
SS-11 Core Drill Into Existing Sanitary Manhole	EA	1	\$1,000.00	\$1,000.00	\$750.00	\$750.00	\$850.00	\$850.00	\$1,300.00	\$1,300.00
STORM SEWER										
ST-01 Provide 34"X53" RCP Class III Storm Sewer	LF	80	\$115.00	\$9,200.00	\$133.00	\$10,640.00	\$137.00	· · · · · ·	\$120.00	\$9,600.00
ST-02 Provide 30" RCP Class III, PVC or PP Storm Sewer	LF	1,650	\$57.00	\$94,050.00	\$68.00	\$112,200.00	\$73.00	, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,	\$85.00	\$140,250.00
ST-03 Provide 24" RCP Class III, PVC or PP Storm Sewer	LF	170	\$55.50	\$9,435.00	\$77.00	\$13,090.00	\$72.00	, ,	\$79.00	\$13,430.00
ST-04 Provide 21" RCP Class III, PVC or PP Storm Sewer	LF	240	\$48.60	\$11,664.00	\$69.00	\$16,560.00	\$71.00		\$72.00	\$17,280.00
ST-05 Provide 18" RCP Class III, PVC or PP Storm Sewer	LF	420	\$55.60	\$23,352.00	\$69.00	\$28,980.00	\$71.00		\$78.00	\$32,760.00
ST-06 Provide 15" RCP Class III or PVC Storm Sewer	LF	160	\$51.00	\$8,160.00	\$68.00	\$10,880.00	\$57.00		\$70.00	\$11,200.00
ST-07 Provide 12" RCP Class III or PVC Storm Sewer (Granular Backfill)	LF	2,300	\$38.50	\$88,550.00	\$65.00	\$149,500.00	\$48.00	1	\$65.00	\$149,500.00
ST-08 Provide 12" RCP Class III or PVC Storm Sewer (Natural Backfill)	LF	425	\$30.70	\$13,047.50	\$40.00	\$17,000.00	\$33.00	\$14,025.00	\$50.00	\$21,250.00
ST-09 Provide 8" PVC Storm Sewer	LF	1,200	\$28.00	\$33,600.00	\$51.00	\$61,200.00	\$33.00	\$39,600.00	\$58.00	\$69,600.00
ST-10 Provide 6" PVC Storm Sewer Lateral	LF	1,450	\$25.10	\$36,395.00	\$50.00	\$72,500.00	\$36.00	1. ,	\$55.00	\$79,750.00
ST-11 Provide 24"x6" Storm Branch or Inserta Tee	EA	2	\$270.00	\$540.00	\$180.00	\$360.00	\$257.00	\$514.00	\$295.00	\$590.00
ST-12 Provide 18"x6" Storm Branch or Inserta Tee	EA	1	\$260.00	\$260.00	\$165.00	\$165.00	\$240.00	\$240.00	\$250.00	\$250.00
ST-13 Provide 12"x6" Storm Branch or Inserta Tee	EA	25	\$180.00	\$4,500.00	\$137.00	\$3,425.00	\$226.00	\$5,650.00	\$225.00	\$5,625.00
ST-14 Provide 8"x6" Storm Branch or Inserta Tee	EA	10	\$160.00	\$1,600.00	\$80.00	\$800.00	\$142.00	\$1,420.00	\$125.00	\$1,250.00
ST-15 Provide 5' Diameter Storm Manhole	VF	60	\$460.00	\$27,600.00	\$400.00	\$24,000.00	\$455.00	\$27,300.00	\$585.00	\$35,100.00
ST-16 Provide 4' Diameter Storm Manhole	VF	125	\$364.00	\$45,500.00	\$285.00	\$35,625.00	\$340.00	\$42,500.00	\$480.00	\$60,000.00
ST-17 Provide Type A Inlet	EA	7	\$1,230.00	\$8,610.00	\$1,300.00	\$9,100.00	\$1,775.00	\$12,425.00	\$1,500.00	\$10,500.00
ST-18 Provide Type B Inlet	EA	28	\$1,875.00	\$52,500.00	\$1,880.00	\$52,640.00	\$2,045.00	\$57,260.00	\$1,725.00	\$48,300.00
ST-19 Provide 34"x53" RCP Endwall	EA	2	\$2,625.00	\$5,250.00	\$1,770.00	\$3,540.00	\$2,285.00	\$4,570.00	\$1,610.00	\$3,220.00
ST-20 Provide 30" RCP Endwall	EA	1	\$1,825.00	\$1,825.00	\$1,000.00	\$1,000.00	\$1,110.00	\$1,110.00	\$800.00	\$800.00
ST-21 Provide 12" RCP Endwall	EA	4	\$690.00	\$2,760.00	\$620.00	\$2,480.00	\$740.00	\$2,960.00	\$460.00	\$1,840.00
WATERMAIN										
W-01 Provide 16" PVC Water Main (Granular Backfill)	LF	5	\$200.00	\$1,000.00	\$350.00	\$1,750.00	\$310.00	\$1,550.00	\$290.00	\$1,450.00
W-02 Provide 12" PVC Water Main (Natural Backfill)	LF	430	\$51.45	\$22,123.50	\$52.00	\$22,360.00	\$49.00	\$21,070.00	\$55.00	\$23,650.00
W-03 Provide 8" PVC Water Main (Granular Backfill)	LF	190	\$49.00	\$9,310.00	\$65.00	\$12,350.00	\$64.00	\$12,160.00	\$60.00	\$11,400.00
W-04 Provide 8" PVC Water Main (Natural Backfill)	LF	2,900	\$31.15	\$90,335.00	\$37.50	\$108,750.00	\$43.00	\$124,700.00	\$40.00	\$116,000.00
W-05 Provide 8" PVC Water Service (Ryan Road)	LF	80	\$74.00	\$5,920.00	\$69.00	\$5,520.00	\$73.00	\$5,840.00	\$43.00	\$3,440.00
W-06 Provide 1" HDPE Water Service	LF	1,600	\$28.60	\$45,760.00	\$45.50	\$72,800.00	\$37.00	\$59,200.00	\$37.00	\$59,200.00
W-07 Directional Drill 1" HDPE Water Service (Ryan Road)	LF	530	\$34.00	\$18,020.00	\$40.00	\$21,200.00	\$27.00	\$14,310.00	\$22.00	\$11,660.00
W-08 Provide 1" Corporation and Curb Stop	EA	61	\$300.00	\$18,300.00	\$465.00	\$28,365.00	\$540.00	\$32,940.00	\$350.00	\$21,350.00
W-09 Provide 8" Gate Valve	EA	9	\$1,550.00	\$13,950.00	\$1,500.00	\$13,500.00	\$1,565.00		\$1,600.00	\$14,400.00
W-10 Provide 6" Gate Valve	EA	1	\$1,500.00	\$1,500.00	\$1,100.00	\$1,100.00	\$1,140.00		\$1,225.00	\$1,225.00
W-11 Provide Connection to Existing Water Main	EA	2	\$2,300.00	\$4,600.00	\$2,000.00	\$4,000.00	\$1,700.00	\$3,400.00	\$1,400.00	\$2,800.00
W-12 Provide Hydrant (6.5' Bury)	EA	6	\$3,800.00	\$22,800.00	\$4,000.00	\$24,000.00	\$3,700.00	\$22,200.00	\$3,650.00	\$21,900.00
W-13 Provide 6" PVC Hydrant Lead	LF	30	\$40.00	\$1,200.00	\$37.00	\$1,110.00	\$70.00		\$39.00	\$1,170.00
W-14 Provide Water Service Offset (Ryan Road)	EA	1	\$2,500.00	\$2,500.00		\$3,100.00	\$3,100.00		\$4,000.00	\$4,000.00
[2.1. Add and Selvice Office (Ryan Road)	/-1	-	ΨΞ,500.00	\$2,500.00	φ3,100.00	45,100.00	φ3,100.00	95,100.00	\$ 1,000.00	Ψ1,000.0

			BIDDER NO. 5		BIDDER NO. 6		BIDDER NO. 7		BIDDER NO. 8	
***				CONCRETE	ADVANCE CONSTRUCTION,		PTS CONTRACTORS, INC.		DAVID TENOR	
			COMPANY		INC.				CORPORATION	
ITEM DESCRIPTION	UNIT	QTY	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
STREET DRAINAGE										
SD-01 Provide Clearing and Grubbing	LS	1	\$39,000.00	\$39,000.00	\$18,500.00	\$18,500.00	\$42,000.00	\$42,000.00	\$45,000.00	\$45,000.00
SD-02 Unclassified Excavation	CY	5,040	\$11.40	\$57,456.00	\$8.30	\$41,832.00	\$8.50	\$42,840.00	\$11.80	\$59,472.00
SD-03 Unclassified Excavation (Pond)	CY	12,810	\$7.10	\$90,951.00	\$4.75	\$60,847.50	\$7.60	\$97,356.00	\$7.35	\$94,153.50
SD-04 Backyard Swale Ditching	SY	350	\$7.00	\$2,450.00	\$10.00	\$3,500.00	\$11.40	\$3,990.00	\$7.25	\$2,537.50
SD-05 Provide 1 1/4" Crushed Aggregate Base Course	TON	8,200	\$10.95	\$89,790.00	\$13.00	\$106,600.00	\$11.70	\$95,940.00	\$11.34	\$92,988.00
SD-06 Provide Asphaltic Concrete Pavement Type 4 LT 58-28	TON	70	\$110.00	\$7,700.00	\$109.80	\$7,686.00	\$138.00	\$9,660.00	\$113.65	\$7,955.50
(Upper Layer) (Lot 8 & Outlot 1)	TON	70	\$110.00	\$7,700.00	\$109.80	\$7,080.00	\$136.00	\$9,000.00	\$113.03	\$7,955.50
SD-07 Provide Asphaltic Concrete Pavement Type 3 LT 58-28	TON	1,150	\$68.60	\$78,890.00	\$68.55	\$78,832.50	\$86.00	\$98,900.00	\$70.95	\$81,592.50
(Lower Layer)	TON	1,130	\$08.00	\$78,890.00	\$00.55	\$70,032.30	\$80.00	\$70,700.00	\$70.93	\$61,392.30
SD-08 Provide 24" Concrete Curb and Gutter (Slip Form)	LF	5,500	\$10.15	\$55,825.00	\$10.65	\$58,575.00	\$11.00	\$60,500.00	\$10.50	\$57,750.00
SD-09 Remove and Replace 9-Inch Concrete Pavement with Integral Curb	SY	85	\$82.00	\$6,970.00	\$80.00	\$6,800.00	\$77.00	\$6,545.00	\$77.63	\$6,598.55
SD-10 Provide 6" Concrete Sidewalk and Driveway	SY	20	\$57.00	\$1,140.00	\$59.00	\$1,180.00	\$56.00	\$1,120.00	\$55.90	\$1,118.00
SD-11 Provide 4" Concrete Sidewalk	SY	60	\$48.00	\$2,880.00	\$50.00	\$3,000.00	\$47.00	\$2,820.00	\$46.58	\$2,794.80
SD-12 Provide #4 Reinforcement Bars	LF	3,600	\$0.75	\$2,700.00	\$0.70	\$2,520.00	\$1.00	\$3,600.00	\$0.78	\$2,808.00
SD-13 Drilled Tie Bars	EA	60	\$8.00	\$480.00	\$8.00	\$480.00	\$8.50	\$510.00	\$8.28	\$496.80
SD-14 Landscaping – Topsoil, Seed, Fertilizer and Mulch	SY	33,500	\$1.35	\$45,225.00	\$2.50	\$83,750.00	\$3.50	\$117,250.00	\$2.25	\$75,375.00
SPECIAL CONSTRUCTION										
SC-01 Pipe Foundation Stabilization	CY	100	\$24.00	\$2,400.00	\$20.00	\$2,000.00	\$23.00	\$2,300.00	35	\$3,500.00
SC-02 Provide Silt Fence	LF	650	\$2.00	\$1,300.00	\$1.50	\$975.00	\$2.10	\$1,365.00	2.5	\$1,625.00
SC-03 Inlet Protection Type B	EA	35	\$60.00	\$2,100.00	\$44.00	\$1,540.00	\$57.00	\$1,995.00	60	\$2,100.00
SC-04 Provide Heavy Rip Rap w/ Geotextile Fabric (Type HR) (Pond)	SY	20	\$50.00	\$1,000.00	\$75.00	\$1,500.00	\$72.00	\$1,440.00	53	\$1,060.00
SC-05 Provide Heavy Rip Rap w/ Geotextile Fabric (Type HR)	SY	20	\$50.00	\$1,000.00	\$85.00	\$1,700.00	\$72.00	\$1,440.00	53	\$1,060.00
SC-06 Tracking Pad	EA	3	\$1,200.00	\$3,600.00	\$1,000.00	\$3,000.00	\$1,850.00	\$5,550.00	1250	\$3,750.00
SC-07 Install, Maintain, & Remove Rock Filled Erosion Control Bags	EA	100	\$8.00	\$800.00	\$7.00	\$700.00	\$8.50	\$850.00	10	\$1,000.00
		TOTAL		\$1,851,559.00		\$2,225,947.00		\$2,279,697.00		\$2,304,895.15